E
jol

I

A8

=
il

ojr
=
B

K|

il

il

0{

Mt EAM

2020. 12.



AL

) YN Lo 1 |

a3

A=

1.

Ll

100
70
gLl

~—

(QV

KO
ol

K-

(QV

Mm o <K NN W

)

2

od

o. A

o
K

<

ol A

MK

Pl

K

or
0
ok
K

ol
mr

ol

-t

il

5. T OFIH Th vveonreirmceiieeieeceieee i



n AFi71 e

F

ol

Xt
o

SHA A

Hx Y 0|=E7F O

=
X MEE SR L

ulJ

ujo

of CHoli AHEH-H&H

=8

=13
=

mIrE 174 7

(o] 3
o

ol

K0
ol

ZH3

b

~nO

153X X 274

153Xt

274

<+

oK

okl

1K

etz gojof &t



20204 12¢8€ &

20204 12¢€ &

20204 12€ ~ 20214 18 &

md

2021 18 ~ 20219 28 B

md

ol
on
ol
Bl

I

7ts

|sto] =

ol
Rl
1oF

a

ol

ol
KO

oF

Rr

K
ol

5

7t 71287t 21F "7t BiE el 85%E =dtet X

L}, 2712 QAR 3}

ol
x

BMEAYY M2z @deEe 7HAE)

W_
EN

Al

= 8 Al A K140

Ch. =718 SAMAZ

2t
=

L & M H76x=(R8E Y

holl 2| HMigh &HX| Be A

-
()
—

Aol YUEEIAAR

ojn

M

Klo

T

11|
=
10

z 9o
R17ZE0| 27 AZEQYOIAIATHEIXIZ BHANL MHIANY, §53E1469)

HEMA] 2

z

=
=

OH,'=7t

o
HA

o] So| AHART}

g

Yol S & =X

e

e



oo

od

FLY

1. MIEH|

)
Kl
M

ol
~d
<
ofru

10i0
il

|

SEXtOA = o ot

80
wu

Kl
M

=13
=

Q Sl ofef2 AFHO| 2t=35H0F

2

F

o X
S ©

i

00

10
=

10
K4

ofru

R

&l
Kl

]

1]

xtel 277 A%

CiC
O o

S !

g

xin

o

XA ?Igots As

H

100

ot 2

Xt
~

Al

PSS
=

O[O|X| &

CH & 5h=

e

Zt
A

ol
<

of 2[#3t6] 24 O|0|X|

O[0|X|= ZHI=2| 7}

<
ot

- M w0 of

OXl= M #Al 7|&

ojo

I

e

-

joll
0]

ojn
0o

I

0

JoO
0|
or

o

il

mjJ

ZH=E WY AlZhof

ol
=

27X 14

t

oH
pal
5
foF
80
|
K|
]

M.

00

ol

o

ju
<

ol
=

B
K|

o

M



<k
X0

o
L
Kl
M

ojn

ol

K4

P2
K|

o

[H]

M

{oF

oo

on

M

[N

xin
Kl

[H]

M

A1

4
Kr

.

Kl

Kl
T

M
K

Jo!

i
Kl

o

[H]

M

Z Al 50%01 Cieh ™A= A

)22 i

B

of g 7t

E

.l

=
[

50%,

=
o

oo
o<

O
K
<

ol A

T A
|

K
K

2.

M|

rd
K

E|= AFRSZA =uet ¥oloto]

10

—

foll
uo

.

ud
ol

il

M

o MY A=t

HAE oM fF A=l dEs0 of

A

K= 7Y 2N

(=13
a

= MAI5H0{0F

|, WHPPT, PDF)

orl

C2tE HINM

@ 2MAR

X 22 HEIMO



« T RAEFEH B 7|02

JoO

ol
Tl

fof

ol

7t 2 Al M2t FX|

K

4

100

XM 8ol 0|5

or
X0
OH
|
ol
mr

od

K

MBloF ot Of= Zg

=
—

u AKX 7L BHEA

Jjo

CIxto| 8L OCIHE XM= &&otH At =50 &

HE 23

5. Mot "7}t

1 80%
1 20%

- 7l& 8t

. 742 m7t

= MM =

. 713 B}



